4% #8 / External View

BRAZE / Components

[ (x®&= : TY-34)2008.02.08

No. % / Part name ¥E / Pcs ME / Material . ZREWLHE / Color- Finish
1 vy 77 /N—= / Top cover 1 A UD-A"2-p / Polycarbonate |34Mb- / Light gray
M=% L/ Without roof unit 2 |£F+ — / Base 1 A UD-R 2= N IRIAAN - 4N -
H Glass fiber filled Light gray
T - B polycarbonate
E}J I NN w—wow= T NN N W—WWEE 3 |W—7 / Roof 1 B’/ PVC 4N VU= / Light gray
. ' L |1 Ay b / Gasket 1 AYb3y / Polyurethane 73y / Black
. L o m 5 |7y # / Latch 2 33703 / Stainless steel |43 / Unfinished
] = 2 6 |Eff~—-ZAEA(MS x 10) L Sk = f#i70x-k
¥ 1) o Screw(M5 - 10) Steel Trivalent chromate
b, 1 1 ‘ .
’un: U Ul U1 F7-NhIWT—% / Technical Data
H: \ REZML / Protection class IP65
ﬂ: 450 FEARESEE / Operating temperature | -20C ~ +75C
m L02 160 2 et 22 2/ Flammability class UL94V-=0
L 380
I 365 30
é” 25x5= 125 75 25x5= 125
° L L
M :j -/_II imil TR I\IJI\_I“IJI\_III 11 TR R T T 1 | i AT
I B 1 - . O o o oo oo T s o o o oel
nJ y | \ “n ; | Wy U YU v Wy v U WU v WU YUy | |
L, A i NN A |l
T | 4 =| (v A | |
] | . H|© & |H
| g - |
: | : [ o H
5 | 3 L fI o & g
i | o~ ] mf Isi
& o|lo|N | (g Ne) O] =D o =
by ®N|o|— | " 44 = = T 1 |
b Mmoo | > & ml=e: Rk S=]uil
T | X b | i
; | < | =1k o I
0 | A fl A A | |
T | | G :| (v \ | |
, | | L m e & | Hy
0 | I M zl pany pany | |
[lle | I _L"u =I () A I |
I n A ﬁ\ L o I i@:_u_i_“_i_“_‘i ML i_‘ii_"_i_"_‘i@‘ |
IE \o/ \ Y, ~\ I B || . Il{all/ll 11 |
\ &-M5474-Nvh
4-M5 Insert nut
5 °
30 50.5
/
N
pl — 2% /Title A—
. HRARHUS HF BRI B K B B M-I U0 3-hT 5K 03 O L
S Y e e e e e e e e e e e Y TAKACHI ELECTRONICS ENCLOSURE Co., LTD. IP65 POLYCARBONATE PLASTIC BOX with OUTDOOR ROOF
L ~M54YH-ryh &R /Approved | ¥ /Checked | #E/Created [&% /Product number RE/SCB[{Z 5
4M5 Insert nut h26 BCPR3545165 —
Gl Gl = "/
fEf B /Date  2021/03/03




[(x®m&= : TY-34)2008.02.08

RfR / Internal View

XRRIZIFIL—TEFHFTOERA,
Drawing does not include roof unit.

T 14— (HR)
Base (Internal View)

713— (AfR)

Cover (Internal View)

2 160 450
° [ ] [ ] °
7 “\

anY Fan \§| —

MCECRCRCRORORO SOV =

B )

& N\ -
A >

N\ N4 "7'

) 72> 2

A\ 24 N\ <

OO OO DO ®O OO OQ SR

- ~or ind
L -M54 =T 9h L =M51Y4-Moh
L-M5 Insert nuf L-M5 Insert nuf
D
o~
=
E
=
>
1~
>
> = 2% /Title
# B = A = - o\
ga HRARM S D FERIR B K B BE -4 & U4 2-hT 3499 O L4
B L B TARACHIELECTRONICS ENCLOSURE Co. LTD. IP65 POLYCARBONATE PLASTIC BOX with OUTDOOR ROOF
T &R /Approved | ¥ /Checked | #E/Created [&% /Product number RE/SCaliAS
BRI /Max dim. 4147 - BCPR354516S -
PR PR a 2/ 2
fEf 8 /Date  2021/03/03




	BCPR354516S Model (1).pdf
	BCPR354516S Model (2).pdf

